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1D pull distribution
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1D pull distribution

X2 / ndf

(ppb)

corr_us_dd_evMon4

8 23 e e o 2 8 z
N 2 o o 3 S
= 3 a & S
S ] o H s
=] =] % Iy g H
+ 1 s & 3 © -
S 9 k4 W o 4
= o ~ < i
8 ° 7
8 4 —]
S & i
s i
o
s _ i
> k) H - = ]
s & § £ & § s
§ = G g = s g ) g
= [ =] <] > o = 2] -1
r
t . -
i BRI B | L v e b by by by 7
© © < [=) © © < ~ [S)
— — - =1
[ —
— -
~©
<t
1——”
O @
L g
Te} |
Py
L4
®
@
—
°
@
Py
@
Py
o hd
— o ———
Py
L
°
4
Py
@
Py
L4




(ppm)

corr_us_dd _evMon4 RMS

Lo
N

(wdd) sny

c'TvEY
TTvey
0'TvEY
v'orey
eovey
covey
Tovey
oovey
v'6eey
£'6EeY
ceeey
T'6EEY
0'6EEY
¥'8eey
£'8eey
z'8eey
T'8eey
0'8eey
v'ieey
gleey
cLeey
VA4
o'Leey
v'ogey
£'9gey
¢'9gEY
Togey
0'9gey
£'qeey
2'seey
T'SeEey
0'seeYy
cveey
Tveey
o'veey
v'eeey
eeeey
ceeey
Teeey
oeeey
ceeey
Teeey
oceey
eTeey
c'Teey
T'TEEy
o'TEEY
v'ocey
goeey
cogey
Toeey
o'ogey



~ o] (=} (=} = ™ o (=2}
g 3 > o 3 3
3 b} 2 I} 3
S =] ] H <t S
=] =] N ] =] H -
+ + e el +H 0 n
g 7 & g 8 3
8 o 3 3 —
3 =4 =3 i
S ? ]
> m 3 - € -1
o £ o <] s © —
c g c S ] £ 2 g E i
o s B 5 S %« 8 2 & E
= a
W —
R = -
o L . i
> R
o —
(@) n
i .
PRI [N TR S N T (NN SN TN T TN NN SO ST SR S NN S S S S N S S T N
[T} [) 0 o 0 o
3V « — —
I L2
0 <«
Py
- m d
2w .
™ + *
N @
n <
™~ °
— »
@
@
Y— L g
©
c
- °
~n O 1o
B3] .
o
N—r @
o
c
=
>
®
e
d_
(%2}
5
-
S
o
(&)
° b |
L
___________I_l‘il‘lrll?________
3 3 =) Q o % % m S TOSTNONS©

cocoo ﬂﬂﬂ




(ppm)

corr_us_dd_evMon5 RMS

c'TvEY
TTvey
0'TvEY
v'orey
eovey
covey
Tovey
oovey
v'6eey
£'6EeY
ceeey
T'6EEY
0'6EEY
¥'8eey
£'8eey
p C'3EEY
p1'3EEY
0'8eey
v'ieey
gleey
cLeey
VA4
o'Leey
v'ogey
£'9gey
¢'9gEY
Togey
0'9gey
£'qeey
2'seey
T'SeEey
0'seeYy
cveey
Tveey
o'veey
v'eeey
eeeey
ceeey
Teeey
oeeey
ceeey
Teeey
oceey
eTeey
c'Teey
T'TEEy
o'TEEY
v'ocey
goeey

cogey

Toeey
o'ogey

__________
© Te}

(wdd) sny



® @ o o w @ =
g 8 2 8 & &
s 5 2 s 8
s 8 g 4 3 2
HoQ < 8 S + .
g8 e CHE ]
5 B § &
S S L ° ]
? S 7]
g ]
- - .
c|l§ ¢ & §8 £ z § ¢& =
% &8 5 & =« & & 8B E
=
2 R
b =
= ]
1] : 7
2 =t —
© T -
= =
2 =
o ]
— I
L | TR T T T T T | TR R M B
< N o C3 © ~ =)
- - -
I
- 1n
O <
-
24 .
31
>+
[e0]
AN WD
A
19}
(00} — ——
Y— —_—
©
e
Y=
|
QX< Q|
Q|
o ®
N
[{e]
c
3
S
e_
©
d_
—
)] —_—
=]
r_
S
o
(&)
________________Il.l_l.l.ﬂlﬂﬂ_ﬂA
o o o o o o o
S S IS) = S S
& & S S 8 8




(ppm)

corr_us_dd _evMon6 RMS

(wdd) sny

c'TvEY
TTvey
0'TvEY
v'orey
eovey
covey
Tovey
oovey
v'6eey
£'6EeY
ceeey
T'6EEY
0'6EEY
¥'8eey
£'8eey
z'8eey
T'8eey
0'8eey
v'ieey
gleey
cLeey
VA4
o'Leey
v'ogey
£'9gey
¢'9gEY
Togey
0'9gey
£'qeey
2'seey
T'SeEey
0'seeYy
cveey
Tveey
o'veey
v'eeey
eeeey
ceeey
Teeey
oeeey
ceeey
Teeey
oceey
eTeey
c'Teey
T'TEEy
o'TEEY
v'ocey
goeey
cogey
Toeey
o'ogey



1D pull distribution
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corr_us_dd_evMon8 (ppb) 1D pull distribution
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1D pull distribution
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corr_usr_evMon3 (ppb) 1D pull distribution

-500

= X2 I ndf 65.96 / 51 h
1500 }— po 7689 i 4322 C Mean  -0.02699 + 0.1561
: : StdDev  1.126 +0.1104
1000 __ 14 __ Underflow 0
: : Overflow 0
B 12~ M
500 _— : X2/ ndf 5.518/7
- I Constant 13.86 + 2.80
10
II ]ILT - lll 1 ]{l] IT T-I { TTTl I | i | Mean  -0.3195  0.1074
0 l l l l I l * * I l \ \ \ s '_ Sigma 0.717 £ 0.104
in

O-III |||T||||||||
4 6

|III|I |III|II|
8 % 4 2 0 2 8




(ppm)

corr_usr_evMon3 RMS

__________________________________________M.
o To) o To} o T o T} o
T} < < ™ ™ 3\ « — —

(wdd) sny

c'TvEY
TTvey
0'TvEY
v'orey
eovey
covey
Tovey
oovey
v'6eey
£'6EeY
ceeey
T'6EEY
0'6EEY
¥'8eey
£'8eey
z'8eey
T'8eey
0'8eey
v'ieey
gleey
cLeey
VA4
o'Leey
v'ogey
£'9gey
¢'9gEY
Togey
0'9gey
£'qeey
2'seey
T'SeEey
0'seeYy
cveey
Tveey
o'veey
v'eeey
eeeey
ceeey
Teeey
oeeey
ceeey
Teeey
oceey
eTeey
c'Teey
T'TEEy
o'TEEY
v'ocey
goeey
cogey
Toeey
o'ogey



1D pull distribution
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1D pull distribution
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